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@usg <h

CH,CHO 1 fi=fcifiad ifyeptisl o @19 AMWfRa & o9+ aTed 3camal ol
TR IR (RIS §7) 2x1=2

(i)  CH3MgBr W& devend HyO*

(i)  Zn(Hg)/@Tg HCI

(i) ofaa Al

298 K W Ush ITeiehdl At @™ 0-001 M KC1 faeta= 8, =1 Ifcier ua =merehan
A 1200 Q TH 1-5x 1074 S em~1 2 | 35 O fEoRTeh Td HieR =Tetehdl ol
qiehets il | 2
Teh ITTTshaT X o Ifd oM hife aon Yo ufd fgdfim swife fr 2

(i) YR Figar o T Se™ d o 9 R Ju9Td g9 ?

(i) X T Y31 hl Higdd g A | o 9T 1 THIE T 2 2x1=2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

i)

(it)

(i11)

(iv)

(v)
(vi)

3

This question paper contains 12 questions. All questions are compulsory.
This question paper is divided into three Sections — A, B and C.

Section A — Questions no. 1 to 3 are very short answer type questions, carrying
2 marks each.

Section B — Questions no. 4 to 11 are short answer type questions, carrying
3 marks each.

Section C - Question no. 12 is case based question, carrying 5 marks.

Use of log tables and calculators is not allowed.

SECTION A

Predict the products formed when CH3CHO reacts with the following
reagents : (Any two) 2x1=2

(1) CH3MgBr and then H3O*
(i)  Zn(Hg)/Conc. HCI

(iii) Tollens’ reagent

The resistance and conductivity of a conductivity cell containing
0-001 M KCl solution at 298 K are 1200 Q and 15x10™% Scm™l.
Calculate its cell constant and molar conductivity. 2

A reaction is first order in X and second order in Y.
(1) How is the rate affected on increasing the concentration of Y three
times ?

(11) How is the rate affected when the concentrations of both X and Y

are doubled ? 2x1=2

P.T.O.
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4. (%)
(@)
5. (+)

TUE @
frfafaa safufseansti & Scamgl st SmIRe HifrT - 3x1=3
H,0"
(i)  CHzMgBr+CO;, —3——
g (a) DIBAL-H
(i)  CH4CN >
(b) HyO
CONH *
(i) 2 Ha9
A
AT
frafafea ARl o1 38 wafuq qUeml % Sed A § Saredd
SHifSTT 3x1=3
(i)  CHZCHO, CH3CH,CHO, CH, — ﬁ — CH, - CHj,
0
CH, - ﬁ —CH; (HCN % 9fd tfufsramfieran)
o)
(i) CH3COOH, Cl — CH, — COOH, (CH,),CH — COOH

(3TFAT YeleTdT)
COOH COOH COOH

(iii) @ <j| @(Ww)

NO, OCH,

frafafea @ gea 3 =t fafe . 3x1=3
CHO
273 -283 K
COONa
(i1) O/ + NaOH %
NH,OH
(111) CH;-C=0 ———
|
H
ST
| Ok 0]
4 s
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4. (a)
(b)
5. (a)

SECTION B

Predict the products in the following reactions : 3x1=3

H,0"
(i)  CH3MgBr+CO, —3——

y (a) DIBAL-H
(i)  CH4CN >
(b) Hy0

CONH, H.,0O"
w QO
OR
Arrange the following compounds in increasing order of their

property as indicated : 3x1=3
(1) CH3CHO, CH3CH,CHO, CH3 — ﬁ — CH, — CHg,

CHg - |C|3 —CHg (Reactivity towards HCN)

(ii)) CH3COOH, Cl - CH, — COOH, (CH3),CH - COOH
(Acidic strength)
COOH COOH COOH

(ii1) @ <j <j (Acidic strength)

OCHj,
Write the major products in the following : 3x1=3
CHO
1 >
273 -283 K
COONa
(ii) O/ + NaOH 229,
NH,OH
iii) CH3-C=0 ———
|
H
OR
E4E
5 "m%@! P.T.O.
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(@) () UM Y U IS T SRR A BT 8 | 2
(i)  3TT9 VEHRIRHM 3T I o 7ed fawg hd T ?

oo .
(i)  Fr=fcrRad sgeca= A 9C=HT SATET

T T 2,4-ST8T8S hiaRISS o

6. Tmafafea g« & fau fa.ar. 9a (emf) ufepfaa Hifse .
Zn (s)| Zn%* (0-01 M) || (0-001 M) Ag*|Ag (s)

e g : B b, =—0T6V 3

Zn“"/7Zn

E® =+080V
Ag*/Ag

[log 2 = 0-3010, log 3 =0-4771, log 10 = 1]

7. (%) gdfRnil did we gerrlt gt o = d@ o9 3w fafau |
aroraT
(@) () ‘gu i uifEr e qun giemo arem fafen |
(ii)  hIATSS! HUN H ST T T HRIT FAT 8 2
(iii) dT9H & g4 T Wifdes AT = wear & 2

3Ix1=3

3Ix1=3

8.  UH WUH HITC hl AMBKRAT 1 75% faoaise 89 H 30 i @10 & |ty 1

ot il |

feam T 2 ¢ [log 2 =03, log 3 =048, log 4 =06, log5 = 0-7]

9. fmafafea & s e .
(i)  GshHYT YTqE TAT 39 ATk IR AfshIar grld & |
(i)  Zn, Cd 3R Hg kAT o &l & |
(iii)  Zr Wa Hf s wEro] Beomd e s gt 8 |

6
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(b) (@ Oxidation of propanal is easier than propanone. Why ?

(i) How can you distinguish between Acetophenone and
Benzophenone ?

(iii) Draw the structure of the following derivative :

2,4-Dinitrophenylhydrazone of Propanone 3x1=3

Calculate the emf of the following cell :

Zn (s)| ZnZ* (0-01 M) || (0-001 M) Ag*|Ag (s)

Given : E@ 9 =—0-76 V and
Zn“*t/7Zn
E® =+080V
Ag*/Ag

[log 2 = 0-3010, log 3 = 0-4771, log 10 = 1]

(a)  Write three differences between Lyophobic sol and Lyophilic sol.

OR
b) @) Write the dispersed phase and dispersion medium of ‘milk’.

(11) What is the cause of Brownian movement in colloidal
particles ?

(iii) Why does physisorption decrease with increase in

temperature ? 3x1=3

A first order reduction takes 30 minutes for 75% decomposition.
Calculate tyo.

Given : [log 2 = 0-3, log 3 =048, log4 =06, log5 = 0-7]

Account for the following : 3x1=3

) Transition metals and their compounds show catalytic activities.
(ii)  Zn, Cd and Hg are non-transition elements.

(ii1) Zr and Hf are of almost identical atomic radii.

7
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10. (%)

frafefad gl o dohtor 1@ grashia @e ffen :

1)
(i1)

(iii)

[SETY] ShHTeh : Ni = 28, Co = 27, Fe = 26]

[NiCl,]%~

[Co(NHg)gl3*

[FeFg]3-

3Ix1=3

3x1=3

HAAAT
(@) () Tm=fafed 9%a 1 IUPAC M fafaT
[Co(NH;),(H,0)CIICl,
(i)  39cdl fere wa fggar fomre = o & @ oTax B 2
(i) [Fe(NHg)gl3* 3R [Fe(Cy0, 503~ H & SH-ET HHha 3H(4eh
Tt B S i ?
11. .
o Cr Mn Fe Co Ni Cu Zn
M2*/ M
—091|—-118| —044 [-028 | -0-25 | +0-34 | —0-76

AU awdl hl T Uit % E© #Hl % fU MU stfeel @ frfafed wel %

SR feu v EO wEi § SAffiddr 1 o= SR @ 2

3ﬁIé“ﬁQ:

. ©

(1) E
MnZ*/Mn

(11)

... o)

1) E
Cu2+/ Cu
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10. (a) Write the hybridisation and magnetic character of the following
complexes : 3x1=3
i) [NiCly*
(i)  [Co(NHg)gl3*
(iii) [FeFgl3~
[Atomic number : Ni = 28, Co = 27, Fe = 26]
OR
(b) @A) Write the IUPAC name of the following complex :
[CO(NH3)4(H20)CI]CIZ
(i1))  What is the difference between an Ambidentate ligand and a
Bidentate ligand ?
(iii) Out of [Fe(NHg)gl3* and [Fe(C904)3]3~, which complex is
more stable and why ? 3x1=3
11. .
Cr Mn Fe Co Ni Cu Zn
E@
M2t/ M
-091(-118| —-044 |-028 |—-025| +034 | -0-76

From the given E®values of the first row transition elements, answer the

following questions : 3x1=3
(1) Why is E@ value highly negative as compared to other
y T, ghly neg P
elements ?

(ii)

(ii1)

What is the reason for the irregularity in the above E® values ?

Why is E®

value exceptionally positive ?
Cu2+/ Cu P yP

9 P.T.O.

i

htips:/foyjus.com




[BJBYJU'S

he Learning App

wus

12. frfafaa s=ee @t dfer qeon fou e yeai & 3w €T 1+1+1+2=5
U, STHIMRT 9] | Teh AT ATk gESeH WA o Ufceha/URA awgl
SR foemod ¥ WTed ek AMfTehi ol Teh Aol o &A1l & | UHH I
321 AR, eSS, UATES, STTe & adl § | A FTSgISH ATEd VeI it
2 e ek vifees o1 e & 8 | Ufesha Wha smfaen @ vee e i
8 | WHfds UHH 4 soiegq fadi=e d ST S8 N SRl § g @
®H HA & | U R AR TrEgioT T SufEd SEEwIid Seiere et
S Iuersydr gra Hgifd gidt 8 | AT8gieM TR W 3UTEd gISgie  qLHTuLST
% TEAT 1 AHGRAT o THR qAT I IcdTal ohl Thfd W THIE eI,
foetres wa qeffereh U1 <l gg=e qen fadg & fore Ioierht 7 | wifes v
i srfufsramsiierar =1 Wi gfskan gra Frafra ferem S @ekar 2 |
() el Bed-shraed siffsran w1 yefdfa T wd 2 1
(i) FfARad @i 39 pKj, A1 % a6d gU A | Sqafedd g 1

CeHsNH,, NHg, CoH:NH,, (CHg)sN

(iii) Te~gent et gl CH3CHoNH, a8 (CH3CHg)oNH o HET 3T hd

fadig ot wehd B 2 1
(iv) (&) Fafafaa safufsansti @ A den B & st=A fofgu 2x1=2
NO,

Sn + HCl Bry ST
(D > A B

(ID CH3CH200NH2 BI‘Z/ alc. :KC):[‘I> A CH3COCI B
fufda
SreaT
(@) f=afafaa =t sy o ufafda s . 2x1=2
D  d=ligeh 37 8 Ul
ID) U | psiERfaeis
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SECTION C

Read the following passage and answer the questions that

follow : I1+1+4+142=5

Amines constitute an important class of organic compounds derived by
replacing one or more hydrogen atoms of ammonia molecule by alkyl/aryl
groups. Amines are usually formed from nitro compounds, halides,
amides, etc. They exhibit hydrogen bonding which influences their
physical properties. Alkyl amines are found to be stronger bases than
ammonia. In aromatic amines, electron releasing and withdrawing
groups, respectively increase and decrease their basic character.
Reactions of amines are governed by availability of the unshared pair of
electrons on nitrogen. Influence of the number of hydrogen atoms at
nitrogen atom on the type of reactions and nature of products is
responsible for identification and distinction between primary, secondary
and tertiary amines. Reactivity of aromatic amines can be controlled by
acylation process.

(1) Why does aniline not give Friedel-Crafts reaction ?

(i1)  Arrange the following in the increasing order of their pr values :
CegHsNH,, NH3, CoHsNHy, (CH3)3N

(iii) How can you distinguish between CH3CH9NHy and
(CH3CH9)9NH by Hinsberg test ?

(iv) (a)  Write the structures of A and B in the following reactions : 2x1=2

NO,

Sn + HCI Bry water
(D > A

() CHsCH,CONH, Bry/ale. KOH A CH3COCl B
Pyridine
OR
(b)  How will you convert the following : 2x1=2
D Benzoic acid to aniline
(II)  Aniline to p-bromoaniline
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